Exercise @ (S'(IE3) INTERPRETATION
- - m In question 3d,

write the expression as
—4x% — 16x + 10 then
take a factor of =4 out
of the first two terms
to get —4(x? + 4x) + 10.

1 Complete the square for these expressions:
a x?+4x b x? - 6x ¢c x?-16x d x>+x e x2— 14x

2 Complete the square for these expressions:
a2x?+16x b 3x2-24x ¢ S5x2+20x d 2x?-5x e 8x-2x2

3 Write each of these expressions in the form p(x + ¢)*> + r, where p, g and r
are constants to be found:

a 2x2+8x+1 b 5x2-15x+3 ¢ 3x2+2x-1 d 10-16x-4x2 e 2x-8x2+10
@ 4 Given that x2 + 3x + 6 = (x + a)? + b, find the values of the constants ¢ and b. (2 marks)

(E) 5 Write 2 + 0.8x - 0.04x? in the form 4 — B(x + C)’, where 4, Band C are
constants to be determined. (3 marks)

solutions to quadratic equations quickly. &&3

1 Solve these quadratic equations by completing the square. Leave your answers in surd form.
a x>+6x+1=0 b x>+ 12x+3=0 ¢ Y?+4x-2=0 d >-10x=5

2 Solve these quadratic equations by completing the square. Leave your answers in surd form.
a2x2+6x-3=0 b 5x2+8x-2=0 ¢ 4x2-x-8=0 d 15-6x-2x2=0

@ 3 x?-14x+ 1 =(x + p)*> + ¢, where p and ¢ are constants.
a Find the values of p and 4. (2 marks)

b Using your answer to part a, or otherwise, show that the solutions to the equation
x2 = 14x + 1 = 0 can be written in the form r * 53, where r and s are constants
to be found. (2 marks)

4 By completing the square, show that the solutions to Problem-solving

the equation x> + 2bx + ¢ = 0 are given by the formula

= —b+h—c. (4 marks) Follow the same steps as you would

if the coefficients were numbers.



